FC

FACTOCOMPONENTS

INDUSTRIAL SUPPLIES AND MANUFACTURING EQUIPMENT

g AIGNEP Serie 57000

57116 m Code Tube A B L1 L2 CHI CH2 D Pack
57116 00 002 M5 36 18 175 9 8 10 10

H

e M

WINKELVERSCHRAUBUNG ZYLINDRISCH (DREHBAR) 5711600004 4 V4 71 18 18 9 16 10 10

EQUERRE ORIENTABLE MALE, CYLINDRIQUE 5711600005 5 M5 36 20 20 11 11 125 10

RACOR A L ORIENTABLE MACHO CILINDRICO CON TORICA 57116 00 006 5 178 54 20 20 11 13 125 10

CONEXAO MACHO EM "" ORIENTAVEL COM ROSCA PARALELA 57116 00 007 6 M5 36 21 20 11 11 125 10

5711600008 6 1/8 54 21 20 11 13 125 10

57116 00 009 6 174 710 21 215 11 16 125 10

H 57116 00 030 6 3/8 81 21 215 11 16 125 10

o OH 57116 00 010 8 1/8 54 225 21 12 13 145 10

- 1 Foo 57116 00 011 8 1/4 71 225 215 12 16 145 10

N L 57116 00 012 8 3/8 81 225 235 12 20 145 10

- 57116 00 013 8 172 96 225 25 12 25 145 10

2 5711600014 10 174 70 265 255 14 16 175 10

J 5711600015 10 3/8 81 265 25 14 20 175 10

A 5711600016 10 1/2 96 265 265 14 25 175 10

5711600025 12 174 70 305 29 16 16 215 10

5711600017 12 3/8 81 315 27 16 20 215 10

5711600018 12 12 96 315 285 16 25 215 10

5711600019 14 3/8 81 315 275 16 20 215 10

5711600020 14 12 96 315 29 16 25 215 10

57116 00 031 [N 3/8 81 335 40 19 25 24 10

57116 00 032 I3 12 96 335 415 19 25 24 10

57116 00 026 [ Méx1 36 175 18 9 8 10 10

57116 00 027 [ M8x1 54 175 18 9 12 10 10

57116 00 028 6 M10x1 54 21 215 11 13 12 10

57116 00 021 6 M12x1 73 20 22 11 16 125 10

57116 00 022 6 MI2x1.25 73 20 22 11 16 125 10

57116 00 023 6 M12x1.5 73 20 22 11 16 125 10

5711600024 8 M12x1.5 73 225 22 12 16 145 10
usen ulalo AouTwwud $1Aa | FACTO COMPONENTS CO., LTD. Okean0
845/3-4 §u 3 a.nwisayd  a.nwisay  o.Llijov 2.dynsdsims 10270 &&31!&5;@
TEL. 02-384-6063 cio 405, 086-369-5871 | LINE OA: @1340vdbx | Website : www.factocomponents.co.th | Email : info@factocomponents.co.th é*ﬂ. "q%





